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øPDU� \|QHWPHOLNOHULQGH� SH\]DM� SURMHOHULQLQ�
WDQÕPODQPDVÕ� YH� \HUHO� PHFOLVOHUGH� J�QGHPH�
DOÕQPDVÕ� oDOÕúPDODUÕ� \�U�W�OPHVL� HVQDVÕQGD�
NDUúÕODúÕODQ�� %D\ÕQGÕUOÕN� %DNDQOÕ÷ÕµQFD�
KD]ÕUODQÕS� 5HVPL� *D]HWH� 7DULKL�� �����������
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2GDPÕ]ÕQ� JLULúLPOHUL� VRQXo� YHUGL��
*D]LDQWHS� %�\�NúHKLU� %HOHGL\HVL�
WDUDIÕQGDQ� DoÕODQ� dHYUH�
'�]HQOHPH� <DSÕP� øúL� LKDOHVL�
G�]HOWLOHUHN�\HQLGHQ�\D\ÕQODQGÕ���
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*D]LDQWHS� %�\�NúHKLU� %HOHGL\HVL� WDUDIÕQGDQ�
DoÕODQ�YH� WDPDPHQ� SH\]DM� PLPDUOÕ÷Õ�
KL]PHWOHULQL� LoHUHQ� $Y�� &HQJL]� *|NoHN� 'HYOHW�
+DVWDQHVL�gQ��dHYUH�'�]HQOHPH�<DSÕP�øúLµQH�
DLW�LKDOH«�
+DEHULQ�GHYDPÕ�LoLQ��
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PDYLVL\OH� J|UHQOHUL� E�\�OH\HQ� $PDVUDµGD� ELU�
V�UHGLU� WHUPLN� VDQWUDO� KX]XUVX]OX÷X� \DúDQÕ\RU���
%LU� WDUDIWDQ�U�]JDU�SRWDQVL\HOL� LOH��ONHGH�|QHPOL�
ELU� \HUH� VDKLS� $PDVUDµQÕQ� WHUPLN� VDQWUDO� JLEL�
E|OJHQLQ�WXUL]P�YH�GR÷DO�\DSÕVÕ�LOH�|QHPOL�JHoLP�
ND\QDNODUÕQGDQ� RODQ� EDOÕNoÕOÕ÷ÕQ� IHGD� HGLOHFH÷L�
ELU�V�UHo�\DúDQÕ\RU���
%DUWÕQ� YH� $PDVUDOÕODU� WXUL]POH� NDONÕQPD�
LVWHNOHULQL� KHU� SODWIRUPGD� V|\OHUNHQ� YH� \LQH�
X]PDQODUÕQ� LVH� EL\RORMLN� oHúLWOLOL÷L� YH� ]HQJLQ�
\DEDQ� KD\DWÕ\OD� '�Q\D� 'R÷D\Õ� .RUXPD�
9DNIÕµQÕQ� �::)�� 7�UNL\HµGH� DFLO� NRUXQPD\D�
DOÕQPDVÕ� JHUHNHQ� GRNX]� E|OJHGHQ� ELUL� RODUDN�
VHoWL÷L� YH� 7HPPX]� ����µGH� R� G|QHPNL�2UPDQ�
%DNDQOÕ÷ÕµQÕQ� ���� PLOOL� SDUN� LODQ� HWWL÷L�
.DVWDPRQX�%DUWÕQ� .�UH� 'D÷ODUÕ� 0LOOL� SDUNÕ�
VÕQÕUÕQGD� WHUPLN� VDQWUDO� NXUXOPDVÕQÕQ� oHYUH\L�
WDKULS�HGHFH÷LQL�VDYXQX\RU��
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D\ÕQGD�� VD÷ODP� ELOLPVHO� WHPHOOHUL�
RODQ� E�W�QOHúLN� NÕ\Õ� \|QHWLPLQL�
�ONHPL]GH� JHUoHNOHúWLUPHN�
DPDFÕ\OD� \ROD� oÕNPÕúWÕ�� 2� \ÕOODUGD��

|]HOOLNOH� NÕ\Õ� DODQODUÕ\OD� LOJLOL� ELOLPVHO�
oDOÕúPDODUÕQ� oRN� VÕQÕUOÕ� VD\ÕGD�� PHYFXW�
DUDúWÕUPDODUÕQ� GD� NÕ\Õ� \|QHWLPL� SROLWLNDODUÕQÕQ�
ROXúWXUXOPDVÕQD� GHVWHN� RODELOHFHN�
E�W�QVHOOLNWHQ�X]DN�ROGX÷X�7�UNL\HµGH�EX�DPDo��
\DNÕQ�]DPDQGD�JHUoHNOHúWLULOHELOLU�W�UGHQ�GH÷LOGL��
'L÷HU�\DQGDQ��NÕ\Õ�\|QHWLPLQL��E�W�QOHúWLUPH���
\|QHWLPLQL� VHNW|UHO� DQOD\ÕúOD� |UJ�WOHPLú� W�P�
�ONHOHUGH� ROGX÷X� JLEL� 7�UNL\HµGH� GH� NROD\OÕNOD�
VD÷ODQDELOLU� ELU� VRQXo� GH÷LOGL�� 6RQ� \ÕOODU�
LoHULVLQGH� ED]Õ� LOHUOHPHOHU� VD÷ODQPÕúVD� GD��
E�W�QOHúLN� NÕ\Õ� \|QHWLPL� �ONHPL]� LoLQ� KDOD� oRN�
|QHPOL�ELU�KHGHI�GXUXPXQGDGÕU��
�<D]ÕQÕQ�GHYDPÕ�LoLQ���
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�<|QHWLP� .XUXOXPX]XQ� �ONH� JHQHOLQGH�
|UJ�WOHQPH� KHGHILQH� (VNLúHKLUµGHNL�
�\HOHULPL]GHQ� GHVWHN� JHOGL�� (VNLúHKLUµGH�
NDPXGD��DNDGHPLGH��|]HO�VHNW|UGH�oDOÕúDQ�YH�
KL]PHW� �UHWHQ� PHVOHNWDúODUÕPÕ]�� PHVOHNL� KDN�
\HWNL�YH�VRUXPOXOXNODUÕPÕ]ÕQ�KD\DWD�JHoLULOPHVL��
PHVOHNL� GD\DQÕúPDQÕQ� DUWPDVÕ� YH�
VRUXQODUÕPÕ]D� RUWDN� DNÕO� \�U�WHUHN� o|]�P�
�UHWPH� LONHVLQGHQ� KDUHNHWOH� YH� 2GD� LONHOHUL�
GR÷UXOWXVXQGD� RUWDN� oDOÕúPDODU� �UHWHELOPHN�
DGÕQD� 2GDµPÕ]� øO� 7HPVLOFLOL÷LµQLQ� NXUXOPDVÕ�
WDOHEL� LOH� <|QHWLP� .XUXOXµPX]D� �P�UDFDDW�
HWWLOHU��
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�

�0(6/(.�ødø�(öø7ø0/(5�<(1ø�352*5$0/$5/$�'(9$0�('ø<25�
� ��� 0DUW� ����� WDULK� YH� �������

VD\ÕOÕ� 5HVPL� *D]HWHµGH�
RQD\ODQDUDN� \�U�UO�÷H� JLUHQ�
6HUEHVW� 3H\]DM� 0LPDUOÕN�
0�úDYLUOLN� �600�� +L]PHWOHUL�
8\JXODPD�� 0HVOHNL� 'HQHWLP��

%�URODUÕQ� 7HVFLOL� YH� $VJDUL� hFUHW�
<|QHWPHOL÷LµQLQ�ho�QF��%|O�P�QGHNL���6HUEHVW�
3H\]DM� 0LPDUOÕ÷Õ� +L]PHWOHUL� 9HULOPHVL�� 7HVFLO�
YH� %HOJHOHQGLUPH� .RúXOODUÕ�QÕQ� WDQÕPODQGÕ÷Õ�
0DGGH�����D������E������0DGGH�����E������0DGGH�
��� ��D� �����E� �����0DGGH���� ��K��0DGGH���� ��o�
JHUH÷L�0HVOHN�øoL�(÷LWLP�]RUXQOX�KDOH�JHOPLúWLU��
����� \ÕOÕ� 2FDN� D\ÕQGDQ� LWLEDUHQ� %�UR� 7HVFLO�
%HOJHVL� �%7%�� DOPDN� YH\D� \HQLOHPH� \DSPDN�
LVWH\HQ� �\HOHULPL]LQ�� EX� \DVD� JHUH÷L� 2GDPÕ]�
WDUDIÕQGDQ� YHULOHFHN� RODQ� �0HVOHN� øoL� (÷LWLP��
SURJUDPÕQÕ� WDPDPODPDODUÕ� JHUHNPHNWHGLU���
%X� \DVDO� ]RUXQOXOXN� JHUH÷L�� '(60� �'HYDPOÕ�
(÷LWLP� 6LVWHPL� 0HUNH]L�� E�Q\HVLQGH� �� DGHW�
H÷LWLP�VHPLQHU�SURJUDPÕ�G�]HQOHQPLúWLU��
KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�JHQHO�EL]GHQBGHWD\�SKS"NRG ����	WLSL �	VXEH ��
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LOH� 7002%� 0HWDOXUML� 0�KHQGLVOHUL�
2GDVÕµQÕQ� GDYDFÕVÕ� ROGX÷X��
.DKUDPDQPDUDú�øOL��3D]DUFÕN�øOoHVL��
d|oHOOL� .|\��� <HOOL\XUW� 'HUH�
PHYNLLQGH� EXOXQDQ� .�0DUDú�

dLPHQWR�YH�0DGHQFLOLN�6DQ��7LF��$�ù��WDUDIÕQGDQ�
LúOHWLOPHVL�YH�NXUXOPDVÕ�SODQODQDQ�µ.DONHU�2FD÷Õ�
YH� (QWHJUH� dLPHQWR� )DEULNDVÕµ� SURMHVL� LOH�
.DKUDPDQPDUDú� øOL�� 3D]DUFÕN� øOoHVL��
$NoDNR\XQOX� .|\�� FLYDUÕQGD� EXOXQDQ� dø0.2�
dLPHQWR� YH� %HWRQ� 6DQ�� 7LF�� $�ù�� WDUDIÕQGDQ�
LúOHWLOPHVL�YH�NXUXOPDVÕ�SODQODQDQ�µ.DONHU�2FD÷Õ�
YH� (QWHJUH� dLPHQWR� )DEULNDVÕµ� SURMHVL� LOH� LOJLOL�
LOJLOL� RODUDN� YHULOHQ� µdHYUHVHO� (WNL�
'H÷HUOHQGLUPHVL�2OXPOXµ�NDUDUÕQÕQ�<�U�WPHVLQLQ�
'XUGXUXOPDVÕ� YH� øSWDO�HGLOPHVL� LVWHPOL�GDYDODUD�
7002%�3H\]DM�0LPDUODUÕ�2GDVÕ�RODUDN�P�GDKLO�
ROPD�WDOHSOHULPL]�LOHWLOHUHN�KXNXND�D\NÕUÕOÕ÷Õ�DoÕN�
YH�X\JXODQPDVÕ�KDOLQGH�WHODIL�HGLOPHVL�RODQDNVÕ]�
]DUDUODUD� \RO� DoDFDN� RODQ� GDYD� NRQXVX� LúOHPLQ�
ELU� DQ� |QFH� \�U�WPHVLQLQ� GXUGXUXOPDVÕ��
\DUJÕODPD� VRQXQGD� LúOHPLQ� LSWDOLQH� NDUDU�
YHULOPHVL� WDOHEL\OH� P�GDKDOH� LVWH÷LPL]�
*D]LDQWHS����øGDUH�0DKNHPHVLµQH�LOHWLOPLúWLU��
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%LOLQGL÷L� �]HUH� �� $UDOÕN� ����� WDULK�
YH� ������ VD\ÕOÕ� 5HVPL� *D]HWHµGH�
\D\ÕQODQDQ� 7002%� $QD�
<|QHWPHOL÷LµQLQ� �%LUOL÷LQ� YH� %D÷OÕ�
2GDODUÕQ� $PDoODUÕ�� EDúOÕNOÕ� ���
0DGGHVLQLQ� �E�� EHQGLQH� J|UH��

���0�KHQGLVOLN� YH� PLPDUOÕN� PHVOH÷L�
PHQVXSODUÕQÕQ� RUWDN� JHUHNVLQPHOHULQL�
NDUúÕODPDN�� PHVOHNL� HWNLQOLNOHUL� NROD\ODúWÕUPDN��
PHVOH÷LQ� JHQHO� \DUDUODUD� X\JXQ� RODUDN�
JHOLúPHVLQL� VD÷ODPDN�� PHVOHN� PHQVXSODUÕQÕQ�
ELUELUOHUL\OH�YH�KDONOD�RODQ�LOLúNLOHULQGH�G�U�VWO�÷��
YH�J�YHQL�KDNLP�NÕOPDN��]HUH�PHVOHN�GLVLSOLQLQL�
YH� DKODNÕQÕ� NRUXPDN�� NDPXQXQ� YH� �ONHQLQ�
oÕNDUODUÕQÕQ� NRUXQPDVÕQGD�� \XUGXQ� GR÷DO�
ND\QDNODUÕQÕQ� EXOXQPDVÕQGD�� NRUXQPDVÕQGD� YH�
LúOHWLOPHVLQGH�� oHYUH� YH� WDULKL� GH÷HUOHULQ� YH�
N�OW�UHO�PLUDVÕQ�NRUXQPDVÕQGD��WDUÕPVDO�YH�VÕQDL�
�UHWLPLQ� DUWÕUÕOPDVÕQGD�� �ONHQLQ� VDQDWVDO� YH�
WHNQLN� NDONÕQPDVÕQGD� JHUHNOL� J|UG�÷�� W�P�
JLULúLP�YH�HWNLQOLNOHUGH�EXOXQPDN��.DPX�NXUXPX�
QLWHOL÷LQGH� PHVOHN� NXUXOXúX� RODQ� 7002%� YH�
ED÷OÕ�2GDODUÕQ�DPDoODUÕ�DUDVÕQGD�VD\ÕOPÕúWÕU��
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�2GD� <|QHWLP� .XUXOX� %DúNDQÕ� $\úHJ�O�
258d.$37$1�� *HQHO� 6HNUHWHU� 5HGLIH�
.2/d$.�� %D\ÕQGÕUOÕN� %DNDQOÕ÷Õ� <DSÕ� øúOHUL�
*HQHO� 0�G�UO�÷�µQGH� J|UHYOL� h\HPL]� *DP]H�
3$5/$<$1� YH�� 'HQL]OL� 7HPVLOFLOL÷L� �\HPL]�
$\QXU� $.'$ùµ� WDQ� ROXúDQ� ELU� KH\HW� LOH�
%D\ÕQGÕUOÕN� 9H� øVNDQ� %DNDQÕ� 6Q�� )DUXN� 1DIL]�
g=$.�µ�OD�PDNDPÕQGD�ELU�DUD\D�JHOGLN��
�0HVOH÷LPL]LQ� %D\ÕQGÕUOÕN� YH� øVNkQ� %DNDQOÕ÷Õ�
KL]PHW� YH� VRUXPOXOXN� DODQODUÕ� LoHULVLQGHNL�
NRQXODUÕQÕ��VRUXQODUÕPÕ]Õ�YH�o|]�P�|QHULOHULPL]L�
GH� NDSVD\DQ� YH� ROGXNoD�� 9HULPOL� JHoHQ�
WRSODQWÕGD�� 7HNQLN� $UDúWÕUPD� YH� 8\JXODPD�
*HQHO� 0�G�U�� 6Q�� +DPL� <,/',5,0� YH� <DSÕ�
øúOHUL� *HQHO� 0�G�U�� 6Q�� 6HIHU� $..$<$µ� GD�
KD]ÕU�EXOXQGX��
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*|U�úPHQLQ�LoHUL÷L�YH�D\UÕQWÕODUÕ�LoLQ��
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�.RFDHOL� øO� 7HPVLOFLOL÷L� J|UHYLQL� �����������
WDULKLQGHQ� EHUL� EDúDUÕ� LOH� \�U�WHQ� &�QH\W�
d$.$5� LNDPHWJDK� GH÷LúLNOL÷L� VHEHEL\OH�
WHPVLOFLOLN�J|UHYLQL�GHYUHWWL���
�.RFDHOL� LOL��\HOHULPL]LQ����2FDN������WDULKLQGH�
JHUoHNOHúWLUGLNOHUL� WRSODQWÕ\D� 2GD� 0HUNH]�
<|QHWLP�.XUXOX� DGÕQD��*HQHO� 6HNUHWHU�5HGLIH�
.2/d$.µÕQ�NDWÕOGÕ���
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�%DUERURV� &DG�� ��0HQGHUHV� %XOYDUÕ� LOH�0HKPHW�
dDNÕU� &DG�� $UDVÕ�� <RO�� .DOGÕUÕP� YH� dHYUH�
'�]HQOHPH� <DSÕP� øúL� øKDOHVL� 2GDPÕ]ÕQ�
JLULúLPOHUL� LOH� G�]HOWLOGL���
øKDOH� LODQÕQGD� \DSÕODQ� GH÷LúLNOLNOHULQ� DUGÕQGDQ�
$ODQ\D� 0DKPXWODU� %HOHGL\H� %DúNDQOÕ÷Õ�
WDUDIÕQGDQ� 2GDPÕ]D� J|QGHULOHQ� \D]ÕGD��
�øGDUL� ùDUWQDPHQLQ� ������ YH� øODQÕQ� ������
0DGGHOHUL� JHUH÷LQFH� øVWHQHQ� 0HVOHNL� 9H�
7HNQLN� <HWHUOLOL÷H� øOLúNLQ� 9H� %X� %HOJHOHULQ�
7DúÕQPDVÕ�*HUHNHQ�.ULWHUOHUH� øODYH�2ODUDN� ��
<ÕO� 'HQH\LPOL�� 3H\]DM� øúOHULQLQ� .RQWURO�QGH�
*|UHYOHQGLULOHFHN� 3H\]DM� 0LPDUÕ� (NOHQHUHN�'�]HOWLOPLúWLU��� LIDGHVL� \HU� DOGÕ���
.DPX� \DUDUÕ� DGÕQD� EX� G�]HQOHPH\L� \DSDQ�
$ODQ\D� 0DKPXWODU� %HOHGL\H�%DúNDQOÕ÷Õµ� QGDNL��
LOJLOL� E�W�Q�J|UHYOLOHUH�FDPLDPÕ]�DGÕQD� WHúHNN�U�
HGHUL]��
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�6DNDU\D� %|OJH� øGDUH� 0DKNHPHVL��
SURMHOHUGH�� VLFLO� GXUXP� EHOJHVL�
LVWHPH\HUHN� RGDODUÕQ� PHVOHNL�
GHQHWLP� \HWNLVLQL� RUWDGDQ� NDOGÕUDQ�
.RFDHOL� %�\�NúHKLU� %HOHGL\HVLµQLQ�

\|QHWPHOLN� GH÷LúLNOL÷LQLQ� \�U�WPHVLQL� GXUGXUGX��
7002%�� .RFDHOL� %�\�NúHKLU� %HOHGL\HVLµQLQ��
SURMHOHUGH� VLFLO� GXUXP� EHOJHVL� LVWHQPHVLQL�
RUWDGDQ� NDOGÕUDQ� \|QHWPHOLN� GH÷LúLNOL÷LQLQ� LSWDOL�
YH�\�U�WPHVLQLQ�GXUGXUXOPDVÕ�LoLQ�.RFDHOL�øGDUH�
0DKNHPHVLµQH� EDúYXUPXú� DQFDN� 0DKNHPH�
\�U�WPH\L�GXUGXUPD\D�JHUHN�J|UPHPLúWL��%XQXQ�
�]HULQH� 6DNDU\D� %|OJH� øGDUH� 0DKNHPHVLµQH�
\DSÕODQ� LWLUD]� VRQXFX�� %|OJH� øGDUH� 0DKNHPHVL�
7002%� OHKLQH� NDUDU� YHUHUHN�� \|QHWPHOL÷LQ�
\�U�WPHVLQL�GXUGXUGX��
KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�JHQHO�EL]GHQBGHWD\�SKS"NRG ����	WLSL �	VXEH ��
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.DQXQODU� GHWD\� GH÷LO��� DQD�
NDYUDPODUÕ�ROXúWXUXUODU��%X�VHEHSOH��
7DVODN� �]HULQGH� VDGHFH� DQD�
NDYUDPODUD� |]HQ� J|VWHUGLN�� 7DVODN�
NDQXQ� 0DGGH� �� <DSÕ� GHQHWLPL�

NXUXOXúODUÕ� EDúOÕ÷Õ� DOWÕQGD� 3H\]DM� 3URMHOHUL�
WDQÕPÕ� \HU� DOPDNWD� ROXS�� LWLUD]� HGHFH÷LPL]�
E|O�P�� �dHYUH�� RODUDN� WDQÕPODQPÕú� RODQ�
NÕVÕP�RODFDNWÕU���
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